=0 o
20244 20fAF 2EHE N SAE Y
SA sAEMD
MM SE2X| JHEE(SEUNLTA/ Y - 55)
Sl BARC (Ctel:ze)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
=R} 34,883,015 28,962,952 5,920,063
= 652,719
= 8,093,000
[ 5,032,972
Al 20,049,210
= 1,055,114
=SE2] J|HEE(SYNYSL/ 5L - =E) 21,592,432 20,747 583 844,849
= 652,719
a 1,323,000
[ 4,436,672
Al 14,124,927
= 1,055,114
Atz 165,932 121,717 44,215
AL 2 e 165,932 121,717 44,215
201 LB 135,932 121,717 14,215
01 AlR2r2lH] 74,980 19,628 55,352
OFAF 22IBE 7Y 9,600
—SEIMIEH 10,00021+35* 122 360
— | e 10,00021+35* 122 360
—H483 20,0005+ 128 1,200
—3iEal 2RIE
20,0002 +8IH A * 12 1,920
—sH&7 30,0002 *8IH Ax 122 2,880
—SHEE= 30,0002 *8IH Ax 122 2,880
OsII=HE 2IIFEI| ZEDA
110,0002 *36CH 3,960
OFAL HIO X2 18,000 *x24CH* 122 5,184
OZLZ 22X 1=
100,0002!* 13 1,300
OFAL ROIAHIAIAL 2
538,000 %122 6,456
OFAF AYAIS OtE 2| 2
280,0002% 122 3,360
OAL ®)|otE 2| 89
1,060,000&* 122 12,720
OFA HA 29 1,700,0002* 122 20,400
OBAM AS 1,000,000 % 123] 12,000
02 2Z2%Y| 60,952 102,089 A41,137
OAERYE| XY 8,800
—ZHAI HD|otEE A 2,000,000 23] 4,000
— & AF CCTVAH| SX24
500,0004x23] 1,000
—HAF YLD S84
1,000,000 * 14! 1,000




A SH™Y
M sESX| JBEES(SUHLS 5 - 5E)
A2
SA - HH - BRI(SIH) - HRAR - B N
—HAF IAE SNBSS
150,0008! 12& 1,800
—HA AYAIE SRS
500,00021+23] 1,000
O 2H| 4,344
¥, [NEET=X 4,344
S0 1,30021+8 £ *120*3CH 3,744
Syl 200,0002*3CH 600
OXFSXIHI(220H) 44,348
—4547( 58 ER) 2,500,00024* 14 2,500
—9804(52,2R) 2,000,000+ 1CH 2,000
—ATA(SE, 32R) 2,000,000+ 1CH 2,000
—B8Y00(ABSIE, HR) 1,500,00024* 1 CH 1,500
—7043(58L2R) 2,500,00024* 14 2,500
—RA3 (S8, AR) 2,000,00024*1CH 2,000
—20RA(AESI2 AR) 1,500, 00021 CH 1,500
—1272( A2, HR) 1,500,00024* 1 CH 1,500
—1682(E8 S8, HR) 2,500,000 *1CH 2,500
—3UB (A2, HR) 1,500, 000241 CH 1,500
—6407 (A2, ER) 1,500,000 % 1CH 1,500
—6209( ABSIE, HR) 1,500,00024* 1 CH 1,500
—4BU4(SE, 32R) 2,000,000+ 1CH 2,000
—9767(58,2R) 2,000,00024*1CH 2,000
—2027(A 82, AR) 1,500, 000241 CH 1,500
—733B(A2, ER) 1,500,000 % 1CH 1,500
—6583(& 0I5t , Z A
1,500,00024* 1 CH 1,500
—6250( ABSHE, HR) 1,500,00024*1CH 1,500
—8398(AE3I2,AR) 1,500, 000201 CH 1,500
—7309( HHZSLNI, I =L AR 3,220
SER 1,500,00024* 1 CH 1,500
LS(HAI| M=
1,72020%20 £ *503] 1,720
—3339(AE SIS, t=Li R 2t) 3,564
=== 1,500,000 % 1CH 1,500
LS (HA)| M=
1,72020%20 £ *603] 2,064
—3330( A B2, =Y Rt 3,564
A 1,500, 00021 CH 1,500
see(ge)| ItE)
1,72024%20 £ *603] 2,064
ozExte M)A 30,000 24%22CH 660
OD&EEE EHIIE Y U 5lOIIHA =X
100,00021*22CH 2,200




A Y
M zE=X JtEs (sl sY - &)
el ZAk2 CEREERD
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
OFAMN =X Ea
300,000 % 1§ 2:%23] 600
401 AIEHIZL 20| 25,000 0 25,000
01 Al&d] 25,000 25,000
OsgII=dE AIES 24 Z2A
10,000,000 *14] 10,000
OsglIsdy Al sZIHd A
15,000,000 *14] 15,000
405 Kt SH| 5,000 5,000
01 XL 2EH = 5,000 5,000
OFAL AFR4! HHHIR 2
5,000,000 *14! 5,000
S 19,476,239 15,229,574 4,246,665
= 572,439
s 1,323,000
& 4,312,496
Al 12,213,190
= 1,055,114
FRAFERFA 14,500 13,500 1,000
203 LRF&| 14,500 13,500 1,000
03 Al FERHRFEIH| 14,500 13,500 1,000
OFQAIE S FZ
4,000,000 %14 4,000
Osllsiig ge=a
3,000,000 *14! 3,000
O=sgd3 H2FA 2,500,000 %14 2,500
OzIgtd=g 23 dRF2
1,000,000&*14] 1,000
ORs 2d A2F4 1,000,000 %14l 1,000
OF4h 23 AR=FF 1,000,000 %1 A! 1,000
OsZEXNTEHE RF
1,000,000 *14] 1,000
OJlshy g2 1,000,000 %1 A! 1,000
sgSA3 0IMEA 250,000 350,000 A100,000
307 SI2t01 & 250,000 350,000 A100,000
08 OIXtE2NZ 250,000 350,000 A100,000
SHEN2 0IX2EX
250,000,000& *14] 250,000
st 04S =2 252,432 246,572 5,860
201 LBtAY| 30,552 27,692 2,860
01 AtR2teld 14,760 11,900 2,860
O=sZEAMNM 222 M 3,0002/%80052 2,400
OAZEE 8% M 60,0002 *40& 2,400
ORssSi2 288 28 7
25,0002*100H 2,500
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SR SIHAA (Crel: & 2l)
SN B SL(3) - MBAY - BaS Ofl b Gl MimE=T!
O=sE 2 AIZAY HMAO5 FASY
70,0002 %158 %23 2,100
Osg J|2 2 22 Mos &4 ¢
70,0002 %12 %43 3,360
OSBRI ZLIAIAE DIH HIE
20,00021%1005*13] 2,000
02 2229 15,792 15,792 0
OsUEXZZLIANAL S B2
1,316,00024+ 122 15,792
301 LBIEAS 5,880 2,880 3,000
11 SAAHI X2 5,880 2,880 3,000
Osgel s 2 A3& AR oY
90,0002 *4H 63 2,160
Os=mx s 2 Y35 SLAL 34
8,00021%90H* 13 720
OFUsol HEZ S=X2
8,000 %25 * 153 3,000
308 AHXISHHISOIA 216,000 216,000 0
07 RIXISHH2IEE =2 216,000 216,000 0
OZARE S0EXEIIS 2E2
216,000,0002* 13 216,000
IRsSASHA 38,100 8,000 30,100
201 L2 S| 28,200 6,200 22,000
03 BAF2 | 28,200 6,200 22,000
OXg=dssd AT HA 5,200
—¥35 28 7 500,000 *23] 1,000
-3 42 L DI KO
500,0002%23] 1,000
—20Kd M22AR
400,000 x4 H =23 3,200
Oxlg=ss NI oIy
5,000 %1005 +23] 1,000
OXRsHALSAR IS
22,000,000 * 14! 22,000
301 LBtEEa 9,900 1,800 8,100
11 BAFAIHIXI 22 9,900 1,800 8,100
OXR=ALAARS| 2935|0] AR} AlCY
8,000 x45H+53] 1,800
OXR=ALNADS| MXIX|AS
90,000 x45H*23] 8,100
(2)=2dFY AL X 10,000 30,000 A20,000
= 6,000
[ 1,200
Al 2,800
307 Q1201 & 10,000 30,000 220,000
= 6,000




SN SSEHY
M sEST (BB (SUHYSY/ 5 - SE)
=l SOHAE (cro): =2l
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
& 1,200
Al 2,800
02 BRIZHAIEE 10,000 30,000 20,000
OsABSH LA X2
10,000, 0002 24 2A+50% 10,000
= 6,000
& 1,200
Al 2,800
(B)Fd=el I=FE NA 688,055 563,130 124,925
= 481,639
& 61,925
Al 144,491
307 2I2+0| ™ 688,055 563,130 124,925
= 481,639
= 61,925
Al 144,491
02 QIZHHAAIEE X 688,055 563, 130 124,925
OXEs0l A=HE X2
688,055,000& %14 688,055
= 481,639
= 61,925
Al 144,491
(2=l SFFAA L 15,600 18,000 22,400
= 7,800
= 2,340
Al 5,460
201 28t=3| 15,600 18,000 A2,400
= 7,800
= 2,340
Al 5,460
01 At22telH 15,600 18,000 A2,400
OFUSYR YsTA H2 Y HINAS 2 X8
15,600,000 * 14! 15,600
= 7,800
& 2,340
Al 5,460
(Z2)sUHEXS AZoZ2Y X2 14,400 16,000 A1,600
= 4,320
Al 10,080
307 2I2t01 ™ 14,400 16,000 A1,600
& 4,320
Al 10,080
02 QI B AAEE X 14,400 16,000 21,600




SN SSEHY
M sEST (BB (SUHYSY/ 5 - SE)
el SO (Crel: & 2l)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
Os&ENS Mg 382 29 X2
18,000, 0002 *1JH2A+80% 14,400
& 4,320
Al 10,080
(E)sIHER0IXA 11,520 19,200 AT7,680
= 3,456
Al 8,064
301 Et2AS 11,520 19,200 AT7,680
& 3,456
Al 8,064
14 J|Et2d= 11,520 19,200 AT7,680
OSMSINSSZ20| A
7,200, 00021 %25 80% 11,520
& 3,456
Al 8,064
(Z)Z2E012% sHHAS SN 8,000 8,000 0
= 2,400
Al 5,600
402 212tXH=01H 8,000 8,000 0
= 2,400
Al 5,600
02 BIZAHE ARG 2 (01X THSA) 8,000 8,000 0
OZ&012 sI1a= SXE
10,000, 0003 *1E*80% 8,000
& 2,400
Al 5,600
(Z)sHESMHEER 7,040,909 5,635,795 1,405,114
= 1,505,000
Al 4,480,795
= 1,085,114
307 eI2t0| ™ 7,040,909 5,635,795 1,405,114
= 1,505,000
Al 4,480,795
= 1,085,114
05 QIZIRIE= 7,040,909 5,635,795 1,405,114
OsHeE Mo2gs K&
7,040,909,000& 14 7,040,909
& 1,505,000
Al 4,480,795
= 1,085,114
(E)sYADSHEARA 5,000 0 5,000
& 1,500
Al 3,500
307 2I2+0| ™ 5,000 0 5,000




A SHFY
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S sJHiE (Crol: z2)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
[ 1,500
Al 3,500
02 QIFAAAIRIE R 5,000 0 5,000
OsUHDELMEAH|IZ X
5,000,0002%12 5,000
[ 1,500
Al 3,500
CAIEE ZAAY 29,000 24,620 4,380
201 L2 A 11,500 11,120 380
01 AFRZ2IHI 11,500 11,120 380
OZASE AIRRE S 7Y 11,500
—CAISE J13D| JH0IEE M=
10,0002 %2502+ 13 2,500
—CAIHE ZAMD A A 2 2
30,00024%2507H*13] 7,500
—CASY B2 S50 29
50,0002 %20 7K 1,000
—CAISE Q2tE HI=
500,000 * 17K 500
206 M=l 4,000 4,000 0
01 XH2H] 4,000 4,000
OZASE X4 2 S22 4,000
—FAE T 100,0002%252 2,500
—JIEt s 2L 500,0002/%33] 1,500
301 YB3 1,500 2,500 A1,000
11 BAFAHIXIRZ2 1,500 1,500 0
OZAISE fFAl &AT} Cha 2
3,00024+500 *13] 1,500
401 Al&HIL 2 0HY] 12,000 7,000 5,000
01 Al&H] 12,000 7,000 5,000
O A AIE2 21324H]
2,000,000+ 14! 2,000
O A SHHY 2H
10,000,000 %14 10,000
(£)=ol oHMTHGHEE 157,667 163,667 6,000
[ 47,300
Al 110,367
307 2I2H0| & 157,667 163,667 26,000
[ 47,300
Al 110,367
05 DI2telEta 157,667 163,667 6,000
O=gol oHETisIEEE X
157,667,0002 %14 157,667
[ 47,300
Al 110,367




SN =AY

Ha: SESL JIPEHE(SYHLSA/ 5Y - 55)

ol s (Crel: me)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
BEECFEERIEEEE 15,000 15,000 0

= 4,500
Al 10,500
307 2I20lA 15,000 15,000 0
< 4,500
Al 10,500
02 CIFF AT A B X 15,000 15,000 0
OZRHISE HELX S
15,000, 000212 15,000
< 4,500
Al 10,500
SEEE=IEVE 10,000 30,000 220,000
= 3,000
Al 7,000
402 DI2FRH=0[ A 10,000 30,000 220,000
= 3,000
Al 7,000
02 QIZFRHZ AL 2 (01 R TR ) 10,000 30,000 220,000
Oyu=sR s4X1& 10,000,000+ 1 10,000
< 3,000
Al 7,000
BEEEEREEECERNE 7,500 6,250 1,250
= 2,250
Al 5,250
402 DI2FRH=0[ A 7,500 6,250 1,250
= 2,250
Al 5,250
02 DIIKHEA B (01 E TN ) 7,500 6,250 1,250
001850l SXBoIFH| X8
15,000, 00024 1A*50% 7,500
< 2,250
Al 5,250
(E)BH=0 JRLEl 243 X2 20,000 0 20,000
= 6,000
Al 14,000
307 I2t0IM 20,000 0 20,000
= 6,000
Al 14,000
02 BIIHAAIREE 20,000 0 20,000
OFHSIAHRLIEIZASA
20,000,0002* 104 20,000
< 6,000
Al 14,000
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SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
(B)sZ NSHZHAXRAIY 3,990,000 1,400,000 90, 000
z 1,323,000
Al 2,667,000
307 2I2H0| & 1,890,000 1,400,000 490,000
z 1,323,000
Al 567,000
05 DI2tlErS 1,890,000 1,400,000 490,000
OsE ASAZYAAY 29
1,890,000, 00024 *14! 1,890,000
z 1,323,000
Al 567,000
403 XX SRS X201 & 2,100,000 2,100,000
02 2| 2SO0 CHEAHE X I EAFH 2,100,000 2,100,000
O2022\ 8 AEEAZ A AL (22 THH A
2,100,000,000&! % 14! 2,100,000
== ASRZYATRALY 80,539 72,440 8,099
101 Q124H| 80,239 72,140 8,099
M JIZH2RISES 80,239 72,140 8,099
OsE AEEZAAY AIR2E 0I124H| 45,640
—Jlg= 3,100,000 x 12 37,200
—gEz2esg 22, 25024 %20 Al 2H 122 5,340
—g=3 3,100,000 1H 3,100
OsE AZSZHAAY AH22 0124 34,599
—JeEs 2,350,000 x 12 28,200
—gE2=sd 16,870R*20A12tx 122 4,049
—g=3 2,350,000+ 1H 2,350
201 LBH2AH| 300 300
01 AF222IHI 300 300 0
OsE AEHZAAY XY GNMEE 2¢
150,0002 *2% 300
(S)HASE Z=)|8F = K|2IAY 100,000 0 100,000
[ 30,000
Al 70,000
402 QIZERF=0|H 100,000 0 100,000
[ 30,000
Al 70,000
02 QIZFRFE A E AR (0| M THS) 100,000 0 100,000
OFEHSRES) RS
200,000, 0002 * 174 A*50% 100,000
[ 30,000
Al 70,000
(£)=018 22 X3 X 6,450,000 6,362,400 87,600
[ 2,580,000




SN SYHUD
Y SESX JHES(SEHLSN/5Y - 5B)
=l SOHAE (cro): =2l
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
A 3,870,000
301 LerEN = 6,450,000 6,362,400 87,600
= 2,580,000
Al 3,870,000
14 JIEEaS 6,450,000 6,362,400 87,600
Osel = XI& 600,000%10,7504 6,450,000
= 2,580,000
Al 3,870,000
(F)s=s=s209 110,000 20,000 210,000
2 77,000
= 9,900
Al 23,100
307 BI2H0IA 110,000 20,000 A10,000
2 77,000
= 9,900
Al 23,100
02 SIFBAAGEE 110,000 20,000 A10,000
OsZE=53X8
55,000, 00020x27} 4 110,000
2 77,000
= 9,900
Al 23,100
(E)FE=20 =X JUE A 31,350 29,000 2,350
< 9,405
Al 21,945
307 BI2H0I A 31,350 29,000 2,350
< 9,405
Al 21,945
02 I MAE R 31,350 29,000 2,350
OFE=el 5X AUE KA
62,700, 0002 1Al <50% 31,350
= 9,405
Al 21,945
BEPIECEEERE 126,667 0 126,667
< 38,000
Al 88,667
307 81240/ & 126,667 0 126,667
< 38,000
Al 88,667
GEEEEE 126,667 0 126,667
OSJIHSEREE N
126,667, 000214} 126,667
= 38,000
Al 88,667
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SA SYFB
Y SE=X JHES(SHNLT /S - 55)
29 SS=d (CHol: M)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
SNEEEEPIERESERENEIEES=ED
37,500, 0002 * 1A1%80% 30,000
04 DIZFHAIAIIE R 18,000 17,000 1,000
OF= OS2 FAl L HNEHA(ZZE 80%)
7,500,000 % 13|80% 6,000
OBJYUEE LeZASTA| L HTHAH(EEZS 80%)
7,500,000 % 13|80% 6,000
OXZ AZZYOIES| KHES WREA
(2X8 80%) 7,500,0002 % 13|x80% 6,000
20 =0 |4 25,300 18,200 7,100
301 LBtEA S 9,700 6,300 3,400
11 #AFAHIXIR S 9,700 6,300 3,400
O0lM =0l M2 - T 2N IS
A0 90,000%3024+135] 2,700
OOlM =20l M2 - 013 AT 0]
90,0002 *40H 13 3,600
O0ldsgol IR 998
85,0002 x40 13 3,400
307 212+l 15,600 11,900 3,700
02 QIZFHAIAIIE X 15,600 11,900 3,700
ONA&sY0l =AXI20| RS T2 29
(EXE 80%) 4,000,000 %25 «80% 6,400
O0& sl Fx=e 5|URD| XIR(EXS 80%)
3,750,0002 % 13|x80% 3,000
OO0IRAIY sALIFD| A XIR(EES 80%)
3,750,000 x13|x80% 3,000
OYZ=M AHIEE AL X (EXS 80%)
4,000, 00024 % 13| «80% 3,200
=015/ S5 #2USY 22,300 19,500 2,800
301 LA 4,500 4,500 0
11 S#ALAHIXI 2 4,500 4,500 0
OF2=0l 84 HFWS 0l
90,0002+50H* 13 4,500
307 212+l 17,800 15,000 2,800
02 QIZFHAAIIE X 9,800 7,000 2,800
OSAIR sADIR)| X (BEES 80%)
7,250,000 % 13|80% 5,800
O sSESAIZS XIRA(EXS 80%)
5,000,0002*13|x80% 4,000
04 DIZFSHAIAIIE R 8,000 8,000 0
OXYsat2 AHISE HAHEES 80%)
5,000,0002*13|x80% 4,000
OS2 22 2 ZNUHEH 2SS (2XS 80%)
5,000, 0002 * 13| «80% 4,000
SO0 LBHALXI A 40,000 40,000 0
307 212+l 40,000 40,000 0




SA: SYEY
H: S22 J|HEHE(SUHYSA/SY - SE)
S SIR=d (Cto: M)
SN B SL(3) - MBAY - BaS Ofl b Gl MimE=T!
04 CITE AT AT B 40,000 40,000 0
Os0Io|L AKX (EXES 90%)
40,000,000+ 14! 40,000
= OICHA|3HE OB AT 20,000 20,000
307 2IZH0I® 20,000 20,000
04 CIZIBATAI B X 20,000 20,000 0
OsUZAA0 JIESIEHAL X2 (2XS 80%)
25,000, 00021 % 13]+80% 20,000
BEELEESREE 168,000 156,000 12,000
[ 50,400
Al 117,600
307 2IZHO| & 168,000 156,000 12,000
[ 50,400
Al 117,600
02 DIFAA A E X 168,000 156,000 12,000
ONA S0l #=HH X
150,00024% 1, 400 «80% 168,000
[ 50,400
Al 117,600
BEEREENEERE] 9,918 103,032 AT, 114
[ 28,776
Al 67,142
201 2Er2 | 9,918 103,032 AT 114
[ 28,776
Al 67,142
01 AF2ZE2IH 9,918 103,032 AT 114
O=elol HEXE2X
95,918,000+ 14! 95,918
[ 28,776
Al 67,142
(2rIEE FEE AXe| A 70,560 105,840 135,280
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Al 35,280
101 01248 70,560 105,840 35,280
] 35,280
Al 35,280
04 I 2ENE D~ 70,560 105,840 35,280
OKZEE s ATl Al 0122
2,500,000+« 1242 62,160
- 31,080
Al 31,080
OAEE Z2AS AX2| A AHEE2(OIREL2)
350,000 %22 * 120 8,400
] 4,200
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SN B SL(3) - MBAY - BaS Ofl b Gl MimE=T!
| Al 4,200
EEEEECNER RS 238,334 212,819 25,515
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100,000 % 12 1,200
Oxge=a 100, 0002 % 12 1,200
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202 04H| 79,200 79,200 0
01 2UH0H 79,200 79,200 0
OsAF Y AR 0fH| 79,200
— 2L oA 20,0002 %202 * 122 122 57,600
— 22| 04| 120,000 %2024 +9 21,600
203 2= 12,460 11,500 %60
01 J| 22 ARSI 3,300 3,300 0
OsI|SHIHAR J|22HAREAIH
3,300,0002* 1% 3,300
02 HADIA LRI 4,960 4,000 960
OFJAINHRFAIH| 40,0003 %124 4,960
04 BNSHADLEAIY 4,200 4,200 0
ORANSIALEXH|(SL D)
350,000 128 4,200
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—=sSEMUE 100,000 %1 S x 122 1,200
WRES(SLHHUY) (SHLSA/ 5 - 55) 200,000 200,000 0
LHEHRH XIS 200,000 200,000 0
VESEHNE 200,000 200,000 0
702 12853 200,000 200,000 0
01 JI12853 200,000 200,000 0
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